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[1] L. =H&ERIZERA ~ B~ OZETRAR &S - HRSi [E—1 - 55/ NI SQL sHAsERR ?
B A C
BID AID CiD
BName ID1 | CName
D2

[E—]

® SELECT * FROM A, B INNER JOIN C ON A.ID1 = B.BID AND A.ID2 = C.CID

@ SELECT * FROM (SELECT * FROM A, B WHERE A.IDI

C.CID

® SELECT * FROM A, B, C WHERE A.ID1 = B.BID AND A.ID2 = C.CID

@ SELECT * FROM A INNER JOIN B ON A.ID1 = B.BID INNER JOIN C ON A.ID2 = C.CID
[2] 2FRA—URABHHE R (SN, 7717, B, UA) » AEHZERAKTY 20 EITayo(T
SEAA A 7

® SELECT 4317 GROUP BY Uz A Having SUM(LZ A) > 200000

@ SELECT 4317 GROUP BY 4317 Having SUM(IiL_A) > 200000

® SELECT 4317 GROUPBY U A Having MAX(IZ A) > 200000

@ SELECT 43/T GROUPBY 43{F Having MAX(U& A) > 200000
[4] 3. MS SQL Server HHa# H A 10 &K} » FEERA T HIWHMERE R 2

® ABOVE @ FIRST ® LASTEST @ TOP
[4] 4. &FH2EH5E S (Data Control Language, DCL) T2 KRG EERIFR ~ 157 ~ THF R ZRYE AR -
T E @R DCL #9542

® ALTER @ AUTHORIZE

= B.BID) AS t1 INNER JOIN C ON t1.ID2 =

» #fE A1 SQL

® CREATE @ GRANT

(2] 5.4 JAVA BEAGES T - T (EF Rz S5 &5 /774 (method) 285 M (field) S m] AR K HY 555151

FHL?
@ public
® private

(2] 6.7£ JAVA F2=GE=
{E Ryfa] ?
D1 @2 ®3 @ 4
(2] 73007 AT JAVA #220 > B e9{E Ryfa] 2
public class Test{
static int Func(int n){
if(n==0)
return 1;
else

@ protected
@ default

ANEATRES int][] data={{0},{1,2},{3,4,5},6,7,8,9}}; >

return n*Func(n-2);

}

public static void main(String[] args){
System.out.println(Func(6));

h
}
® 24 @ 48 ® 120 @ 720
(3] 8.8 T NHI JAVA R2507 Bty HA&h 5 o far 2
int a=5, b=3, ¢=10, sum=0;
sum=c-a++;
System.out.print( ++b+sum);
®7 @8 ®9 @ 10
(1] 9% VB i2=GES+ » THI—(EE & ANV EE A ?
® A123 @ 789B
® Dim @ FUN#
[3] 10. T~ EAY VB A2 EERFEN I 2/ * 2
ForI=0to 10
If Imod 3 <> 0 then
Console. WriteLine(“*””)
End if
Next I
© 5 & @ 6 [ ® 7 {& @ 8 [
[3) 11 NHIR—{EE VB R =EE = 0 E B 7B (List ) AN (E&ERPE BV 774 ?

@ Listl.Add(“VB”) @ Listl.Insert(“VB”)

® Listl .Items.Add(“VB”) @ Listl.Insert.Items(“VB”)

(1) 125% VB 2= S T E &M Mol ssat ?
® Dim a(3) As Integer={4,6,3} @ Dim a() As Integer={4,9,6,1,2,7}
® Dim a() As Button @ Dim a(3) As Integer

(5]

Hi] data[1].length F
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(3] 15 oA o3& R & M #i(Aggregate Function) ? O—{EEAERY Switch 2 HEZT4N 2048 (il VLAN @Ff Switch B2 Switch $H3H% 48 F Trunk i
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M #(Foreign Key) @A ##(Super Key) O F§#(Primary Key) @f##EE##(Candidate Key)
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(4] 20.FAFEEESHE VBT 2188 » R Ny B 2 M PE B e AR 2 A004 - 3 A003 ﬂ’ti & FL 78
OFLATY T P B $5 7E (Basic Two-Phase Locking) - A004 P AT 92
A004 =R TR 80
@ fE A& Y WA [ & $H XE (Strict Two-Phase Locking)
® faz JE Y WA [ B 5H 7E (Rigorous Two-Phase Locking)
@4 B R [ ES 85 7E (Absolute Two-Phase Locking)
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(4] 23. NYURERERET > (&G (EH] TCP AT T{H g ?

® HTTP @ FTP ® TELNET @ SNMP
[2] 24. TFI{a) 5 K 192.118.123.100 /26 (EEFENIE ? [
® 192.118.123.64 @ 192.118.123.127  ® 192.118.123.255 @ 192.118.123.63 SO AR B 4EES T LA sE S R - [/ 4 47 )
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